[image: image1.png]32. A 10 volt unipolar analog input has a voltage resolution of 78.125 mV.  The bit resolution
is____ bits.
a) 7
b) 8
c) 9
d) 10

33. A 10-bit bipolar 10 volt analog input has +4.35 volts applied to the input terminals. What
will be the converted value in decimal format?
a) 222
b) 445
c) 734
d) 1469

34. To measure a voltage that ranges for —1 to +5.5 volts, the best choice for an analog input
range would be
a) S volts unipolar
b) S volts bipolar
¢) 10 volts unipolar
d) 10 volts bipolar




